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CALCS He(Kappa‘s‘) CALCS He(Kappapu) CALCS Kappac CALCS 1CC
1000 1000 800 1000
800 800 800
600
600 600 600
400
400 400 400
200
200 200 200
0 0 0 0
0.994 0.995 0.996 0.997 0.994 0.995 0.996 0.997 105 1.055 1.06 1.065 1.07 348
DCs F{e(kappam) DCS Re(kappa, u) DCS kappac
1000 1200 P 1000 1400
1200
800 1000 800
1000
800
600 600 800
600
400 400 600
400
400
200 200
200 200
0 0 0 0
0.9945 0.995 0.9955 0.996 0.9965 0.994 0995 0.996 0.997 0.998 1.05 1.055 1.06 1.085 348 350 352 354 356
DCS-NOGATE He(Kappqs‘) DCS-NOGATE Re(kappa, u) DCS-NOGATE KappaC DCS-NOGATE 1CC
1000 1200 b 1000 1400
1200
800 1000 800
1000
800
600 600 800
600
400 400 600
400
400
200 200 200

200

0 0 0 0
0.9945 0.995 0.9955 0.996 0.9965 0.994 0995 0996 0.997 0.998 1.05 1.055 1.06 1.065 348 350 352 354 356



